@4

fyra brak, decimaler, ordningsfoljd med parenteser

namn:

|
41— -)x3-3,5=
( b 4) b

1 1
- —4(=-2,6)=
2 (5 > )

3 1
2 -53,3+2)=
2 ( 9 2)

2
15(4,6 = 3) +5%3+2,7 =

1 1
—x20+5+43,6— =
6 (7 2)

Datum: Poéng:
1 3
204,7— =) +5x4— ==
( 5 6) 4
1 3
6(=—=)+2x3+2,4=
(6 5) b

2 1
57+3(5+=)=

3
(g_—)x3_

WD W

4,1 x8+4-53,8+2)=
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‘ .z‘ @ fyra brak, decimaler, ordningsfoljd med parenteser

namn: Datum: Poéng:
(4,1—}‘)X3—3,5=%=8% 20(4,7—é)+5x4—%=%=712—g
%—4(%—2,6)=%=10% 6(%—%)+2X3+2,4=(—%)=(—1%)

%—5(3,3+%)=(—32—5)=(—17%) 5,7+3(§+%)=45—6: %

s Deseriare Bl 3L )

196 1 104 -
)= —=13— 4,1><8+4—5(3,8+2)=(—T)Z(—2O§)

1
- x20+5+4(3,6—-
6 G, 1 15

N —
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